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B) citis

D) citys

One city. Two …

C) cities

A) citizens

C) cities
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B) mice

D) mousers

One mouse. Two …

C) mouse

A) mouses B) mice
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B) goosers

D) geese

One goose. Two …

C) goose

A) gooses

D) geese
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B) knive

D) knife

One knife. Two …

C) knifes

A) knivesA) knives
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B) woman

D) womanas

One woman. Three …

C) women

A) womans

C) women
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B) childses

D) children

One child. Four …

C) childish

A) childs

D) children
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B) leaves

D) leafs

One leaf. Ten …

C) leaflets

A) leafers B) leaves
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B) potatos

D) potato

A potato. Ten …

C) potates

A) potatoesA) potatoes
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B) tooths

D) tooth

One tooth is bad. May be 
two more … are bad.

C) toothless

A) teethA) teeth
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B) sheepish

D) sheeping

There are so many … in New Zealand.

C) sheep

A) sheeps

C) sheep



Congratulations
!

Thank you for playing


